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Examples

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb


1. Sachin and Sehwag scored 137 runs

together. Express the information in the form

of an equation.

Watch Video Solution

2. Hema’s age is 4 times the age of Mary. Write

a linear equation in two variables to represent

this information.

Watch Video Solution

https://dl.doubtnut.com/l/_ZzRZt73Luj5W
https://dl.doubtnut.com/l/_Zm0qL3rPXls1
https://dl.doubtnut.com/l/_7L1l5cF8ydMc


3. A number is 27 more than the number

obtained by reversing its digits. If its unit’s and

ten’s digits are x and y respectively, write the

linear equation representing the above

statement.

Watch Video Solution

4. Express each of the following equations in

the form of ax + by + c = 0 and write the values

of a, b and c. 

(i) 3x + 4y = 5 (ii) x - 5 =  
√3y

https://dl.doubtnut.com/l/_7L1l5cF8ydMc
https://dl.doubtnut.com/l/_AEaoQSQl1A6Z


(iii) 3x = y (iv)  


(v) 3x - 7 = 0

Watch Video Solution

+ =
x

2

y

2

1

6

5. Write each of the following in the form of ax

+ by + c = 0 and find the values of a, b and c 

(i) x = -5 

(ii) y = 2 

(iii) 2x = 3 

(iv) 5y = -3

Watch Video Solution

https://dl.doubtnut.com/l/_AEaoQSQl1A6Z
https://dl.doubtnut.com/l/_KQixmclY55vq


6. Find four different solutions of 4x + y = 9.

(Complete the table wherever necessary)

Watch Video Solution

7. Check which of the following are solutions

of an equation x + 2y = 4? (Complete the table

wherever necessary) 

(i) (0, 2) (ii) (2, 0) (iii) (4, 0) (iv) ( ,- ) 

(v) (1, 1) (vi) ( - 2, 3)

Watch Video Solution

√2 √2

https://dl.doubtnut.com/l/_KQixmclY55vq
https://dl.doubtnut.com/l/_pwwVw8SP5Sng
https://dl.doubtnut.com/l/_sCE5rBCKwKal


8. If x = 3, y = 2 is a solution of the equation 5x -

7y = k, find the value of k and write the

resultant equation.

Watch Video Solution

9. If x = 2k + 1 and y = k is a solutions of the

equation 5x + 3y - 7 = 0, find the value of k.

Watch Video Solution

https://dl.doubtnut.com/l/_sCE5rBCKwKal
https://dl.doubtnut.com/l/_xUKX4hmGtxvM
https://dl.doubtnut.com/l/_FYZzVlQ4Y5LJ
https://dl.doubtnut.com/l/_NeJHskPqoFi7


10. Draw the graph of the equation y - 2x = 4

and then answer the following. 

(i) Does the point (2, 8) lie on the line? Is (2, 8)

a solution of the equation? Check by

substituting (2, 8) in the equation. 

(ii) Does the point (4, 2) lie on the line? Is (4, 2)

a solution of the equation? Check algebraically

also. 

(iii) From the graph find three more solutions

of the equation and also three more which are

not solutions.

Watch Video Solution

https://dl.doubtnut.com/l/_NeJHskPqoFi7


11. Draw the graph of the equation x - 2y = 3.

From the graph find the coordinate points 1)x

= -5
2) y =0

Watch Video Solution

12. 25% of the students in a school are girls

and others are boys. Form an equation and

draw a graph for this. By observing the graph,

answer the following : 

https://dl.doubtnut.com/l/_NeJHskPqoFi7
https://dl.doubtnut.com/l/_lkdjTCL8mlx4
https://dl.doubtnut.com/l/_tk14qgBNIcdV


(i) Find the number of boys, if the number of

girls is 25. 

(ii) Find the number of girls, if the number of

boys is 45. 

(iii) Take three different values for number of

boys and find the number of girls. Similarly

take three different values for number of girls

and find the number of boys?

Watch Video Solution

https://dl.doubtnut.com/l/_tk14qgBNIcdV


13. For each graph given below, four linear

equations are given. Out of these find the

equation that represents the given graph. 

(i) Equations are 

(A) y = x 

(B) x + y = 0 

(C) y = 2x 

(D) 2 + 3y = 7x 

(ii) Equations are 

(A) y = x + 2 

(B) y = x - 2 

(C) y = -x + 2 

https://dl.doubtnut.com/l/_4NzllnWAY1wy


(D) x + 2y = 6 

https://dl.doubtnut.com/l/_4NzllnWAY1wy


Watch Video Solution

14. Sachin and Sehwag scored 137 runs

together. Express the information in the form

of an equation.

Watch Video Solution

15. Hema’s age is 4 times the age of Mary.

Write a linear equation in two variables to

represent this information.

https://dl.doubtnut.com/l/_4NzllnWAY1wy
https://dl.doubtnut.com/l/_T5CWv1Ss9aHI
https://dl.doubtnut.com/l/_4wX2sllDiHmi


Watch Video Solution

16. A number is 27 more than the number

obtained by reversing its digits. If its unit’s and

ten’s digits are x and y respectively, write the

linear equation representing the above

statement.

Watch Video Solution

17. Express each of the following equations in

the form of ax + by + c = 0 and write the values

https://dl.doubtnut.com/l/_4wX2sllDiHmi
https://dl.doubtnut.com/l/_JqrAirczf0aT
https://dl.doubtnut.com/l/_PynxLHkJ8KCf


of a, b and c. 

(i) 3x + 4y = 5 (ii) x - 5 =  


(iii) 3x = y (iv)  


(v) 3x - 7 = 0

Watch Video Solution

√3y
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2
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18. Write each of the following in the form of

ax + by + c = 0 and find the values of a, b and c 

(i) x = -5 

(ii) y = 2 

https://dl.doubtnut.com/l/_PynxLHkJ8KCf
https://dl.doubtnut.com/l/_KFVVZzvKJsbB


(iii) 2x = 3 

(iv) 5y = -3

Watch Video Solution

19. Find four different solutions of 4x + y = 9.

(Complete the table wherever necessary)

Watch Video Solution

20. Check which of the following are solutions

of an equation x + 2y = 4? (Complete the table

https://dl.doubtnut.com/l/_KFVVZzvKJsbB
https://dl.doubtnut.com/l/_WlioxLg9nn5F
https://dl.doubtnut.com/l/_CMQPPe7YYGkg


wherever necessary) 

(i) (0, 2) (ii) (2, 0) (iii) (4, 0) (iv) ( ,- ) 

(v) (1, 1) (vi) ( - 2, 3)

Watch Video Solution

√2 √2

21. If x = 3, y = 2 is a solution of the equation 5x

- 7y = k, find the value of k and write the

resultant equation.

Watch Video Solution

https://dl.doubtnut.com/l/_CMQPPe7YYGkg
https://dl.doubtnut.com/l/_HtUPghV3vVTY


22. If x = 2k + 1 and y = k is a solutions of the

equation 5x + 3y - 7 = 0, find the value of k.

Watch Video Solution

23. Draw the graph of the equation y - 2x = 4

and then answer the following. 

(i) Does the point (2, 8) lie on the line? Is (2, 8)

a solution of the equation? Check by

substituting (2, 8) in the equation. 

(ii) Does the point (4, 2) lie on the line? Is (4, 2)

https://dl.doubtnut.com/l/_dAjHtoLKbdZZ
https://dl.doubtnut.com/l/_sCjsyuB5LNSY


a solution of the equation? Check algebraically

also. 

(iii) From the graph find three more solutions

of the equation and also three more which are

not solutions.

Watch Video Solution

24. Draw the graph of the equation x - 2y = 3.

From the graph find (i) The solution (x, y)

where x = - 5 

https://dl.doubtnut.com/l/_sCjsyuB5LNSY
https://dl.doubtnut.com/l/_J6uHT5sgFy6P


(ii) The solution (x, y) where y = 0 

(iii) The solution (x, y) where x = 0

Watch Video Solution

25. 25% of the students in a school are girls

and others are boys. Form an equation and

draw a graph for this. By observing the graph,

answer the following : 

(i) Find the number of boys, if the number of

girls is 25. 

(ii) Find the number of girls, if the number of

https://dl.doubtnut.com/l/_J6uHT5sgFy6P
https://dl.doubtnut.com/l/_TpcJfluODljn


boys is 45. 

(iii) Take three different values for number of

boys and find the number of girls. Similarly

take three different values for number of girls

and find the number of boys?

Watch Video Solution

26. For each graph given below, four linear

equations are given. Out of these find the

equation that represents the given graph. 

(i) Equations are 

https://dl.doubtnut.com/l/_TpcJfluODljn
https://dl.doubtnut.com/l/_POCcdCCYgZLG


(A) y = x 

(B) x + y = 0 

(C) y = 2x 

(D) 2 + 3y = 7x 

(ii) Equations are 

(A) y = x + 2 

(B) y = x - 2 

(C) y = -x + 2 

https://dl.doubtnut.com/l/_POCcdCCYgZLG


(D) x + 2y = 6 

https://dl.doubtnut.com/l/_POCcdCCYgZLG


Try This

Watch Video Solution

1. Express the following linear equations in the

form of ax + by + c = 0 and indicate the values

of a, b, c in each case? 

(i) 3x + 2y = 9 (ii) -2x + 3y = 6 (iii) 9x - 5y = 10 

(iv)  (v) 2x = y

Watch Video Solution

− − 5 = 0
x

2

y

2

https://dl.doubtnut.com/l/_POCcdCCYgZLG
https://dl.doubtnut.com/l/_yaZoW9OsfdLu
https://dl.doubtnut.com/l/_05607sZD5Rnj


2. Take a graph paper, plot the point (2, 4), and

draw a line passing through it.Now answer the

following questions. 

How many such lines can be drawn?

Watch Video Solution

3. Take a graph paper, plot the point (2, 4), and

draw a line passing through it.Now answer the

following questions. 

How many such lines can be drawn?

Watch Video Solution

https://dl.doubtnut.com/l/_05607sZD5Rnj
https://dl.doubtnut.com/l/_ilf98vEQXmNu


4. Take a graph paper, plot the point (2, 4), and

draw a line passing through it.Now answer the

following questions. 

How many such lines can be drawn?

Watch Video Solution

5. Express the following linear equations in the

form of ax + by + c = 0 and indicate the values

of a, b, c in each case? 

https://dl.doubtnut.com/l/_ilf98vEQXmNu
https://dl.doubtnut.com/l/_Pnil2WxXS7O0
https://dl.doubtnut.com/l/_Rgr0GqImkvEw


(i) 3x + 2y = 9 (ii) -2x + 3y = 6 (iii) 9x - 5y = 10 

(iv)  (v) 2x = y

Watch Video Solution

− − 5 = 0
x

2

y

2

6. find the solutions for the pairs of equation.

and identify the solution
 5x+3y=15and

5x+2y=10

Watch Video Solution

https://dl.doubtnut.com/l/_Rgr0GqImkvEw
https://dl.doubtnut.com/l/_1SiJ6X1wx74l


7. Take a graph paper, plot the point (2, 4), and

draw a line passing through it.Now answer the

following questions. 

Can you draw another line that passes

through the point (2, 4).

Watch Video Solution

8. Take a graph paper, plot the point (2, 4), and

draw a line passing through it.Now answer the

https://dl.doubtnut.com/l/_4Exh1ercxjY6
https://dl.doubtnut.com/l/_KhF2DBGMcpoT


following questions. 

How many such lines can be drawn?

Watch Video Solution

9. Take a graph paper, plot the point (2, 4), and

draw a line passing through it.Now answer the

following questions. 

How many linear equations in two variables

exist for which (2, 4) is a solution?

Watch Video Solution

https://dl.doubtnut.com/l/_KhF2DBGMcpoT
https://dl.doubtnut.com/l/_midqmvVQtJxg


Do This

1. (i) Draw the graph of following equations. 

(a) x = 2 (b) x = –2 (c) x = 4 (d) x = –4 

(ii) Are the graphs of all these equations

parallel to Y-axis? 

(iii) Find the distance between the graph and

the Y-axis in each case

Watch Video Solution

https://dl.doubtnut.com/l/_q7L1EejRTA1X


2. (i) Draw the graph of following equations. 

(a) x = 2 (b) x = –2 (c) x = 4 (d) x = –4 

(ii) Are the graphs of all these equations

parallel to Y-axis? 

(iii) Find the distance between the graph and

the Y-axis in each case

Watch Video Solution

3. (i) Draw the graph of the following

equations 

https://dl.doubtnut.com/l/_Od0yWfNeyyQm
https://dl.doubtnut.com/l/_AV5UndFPilEv


Exercise 8 1

(a) y = 2 (b) y = –2 (c) y = 3 (d) y = –3 

(ii) Are all these parallel to the X-axis? 

(iii) Find the distance between the graph of

the line and the X-axis in each case

Watch Video Solution

1. Express the following linear equation in the

form of ax+by+c=0 and indicate the values of

a, b and c in each case. 

https://dl.doubtnut.com/l/_AV5UndFPilEv
https://dl.doubtnut.com/l/_QId2pfv0CQ0k


(i) 8x + 5y - 3 = 0 (ii) 28x - 35y = - 7 (iii) 93x = 12 -

15y 

(iv) 2x = - 5y (v)  (vi)  

(vii) 3x+5y=12

Watch Video Solution

+ = 7
x

3

y

4
y = x

−3

2

2. Write each of the following in the form of ax

+ by + c = 0 and find the values of a, b and c 

(i) 2x = 5 (ii) y - 2 = 0 (iii)  (iv) x= 

Watch Video Solution

= 3
y

7

−14
13

https://dl.doubtnut.com/l/_QId2pfv0CQ0k
https://dl.doubtnut.com/l/_J215FuLjVEQh
https://dl.doubtnut.com/l/_qFIDbCg51cca


3. Express the following statements as a linear

equation in two variables. 

The sum of two numbers is 34.

Watch Video Solution

4. Express the following statements as a linear

equation in two variables. 

The cost of a ball pen is 5 less than half the

cost of a fountain pen.

Watch Video Solution

https://dl.doubtnut.com/l/_qFIDbCg51cca
https://dl.doubtnut.com/l/_6MwiRE6B7CwD


5. Express the following statements as a linear

equation in two variables. 

Bhargavi got 10 more marks than double the

marks of Sindhu.

Watch Video Solution

6. Express the following statements as a linear

equation in two variables. 

The sum of two numbers is 34.

Watch Video Solution

https://dl.doubtnut.com/l/_tynR1HlEyHvx
https://dl.doubtnut.com/l/_n3BGBLwMVwca


7. Express the following statements as a linear

equation in two variables. 

Yamini and Fatima of class IX together

contributed ` 200/- towards the Prime

Minister’s Relief Fund.

Watch Video Solution

8. Express the following statements as a linear

equation in two variables. 

The sum of a two digit number and the

https://dl.doubtnut.com/l/_n3BGBLwMVwca
https://dl.doubtnut.com/l/_o9GVT4G7XEai
https://dl.doubtnut.com/l/_zgY51av4XuAG


number obtained by reversing the order of its

digits is 121. If the digits in unit’s and ten’s

place are ‘x’ and ‘y’ respectively.

Watch Video Solution

9. Express the following linear equation in the

form of ax+by+c=0 and indicate the values of

a, b and c in each case. 

(i) 8x + 5y - 3 = 0 (ii) 28x - 35y = - 7 (iii) 93x = 12 -

15y 

https://dl.doubtnut.com/l/_zgY51av4XuAG
https://dl.doubtnut.com/l/_bkn6qxavLMEM


(iv) 2x = - 5y (v)  (vi)  

(vii) 3x+5y=12

Watch Video Solution

+ = 7
x

3

y

4
y = x

−3

2

10. Write each of the following in the form of

ax + by + c = 0 and find the values of a, b and c 

(i) 2x = 5 (ii) y - 2 = 0 (iii)  (iv) x= 

Watch Video Solution

= 3
y

7

−14
13

https://dl.doubtnut.com/l/_bkn6qxavLMEM
https://dl.doubtnut.com/l/_x12REccqMmwS


11. Express the following statements as a linear

equation in two variables. 

The sum of two numbers is 34.

Watch Video Solution

12. Express the following statements as a

linear equation in two variables. 

The cost of a ball pen is 5 less than half the

cost of a fountain pen.

Watch Video Solution

https://dl.doubtnut.com/l/_RQDhVTHP8nYS
https://dl.doubtnut.com/l/_XSzBqVYZ26SF


13. Express the following statements as a

linear equation in two variables. 

Bhargavi got 10 more marks than double the

marks of Sindhu.

Watch Video Solution

14. Express the following statements as a

linear equation in two variables. 

The cost of a pencil is 2 and a ball point pen is

https://dl.doubtnut.com/l/_XSzBqVYZ26SF
https://dl.doubtnut.com/l/_4SR9tvnTKDFx
https://dl.doubtnut.com/l/_EeB46ObUV1z2


15. Sheela pays 100 for the pencils and pens

she purchased.

Watch Video Solution

15. Express the following statements as a

linear equation in two variables. 

Yamini and Fatima of class IX together

contributed ` 200/- towards the Prime

Minister’s Relief Fund.

Watch Video Solution

https://dl.doubtnut.com/l/_EeB46ObUV1z2
https://dl.doubtnut.com/l/_Lh8v6swMu454
https://dl.doubtnut.com/l/_gyp0ptPYltXt


Exercise 8 2

16. Express the following statements as a

linear equation in two variables. 

The sum of a two digit number and the

number obtained by reversing the order of its

digits is 121. If the digits in unit’s and ten’s

place are ‘x’ and ‘y’ respectively.

Watch Video Solution

https://dl.doubtnut.com/l/_gyp0ptPYltXt


1. Find three different solutions of the each of

the following equations. 

(i) 3x + 4y = 7 (ii) y = 6x (iii) 2x - y = 7 

(iv) 13x - 12y = 25 (v) 10x + 11y = 21 (vi) x + y = 0

Watch Video Solution

2. If (0, a) and (b, 0) are the solutions of the

following linear equations. Find ‘a’ and ‘b’. 

(i)8x - y = 34 (ii) 3x = 7y - 21 (iii)5x - 2y + 3 = 0

Watch Video Solution

https://dl.doubtnut.com/l/_5fv2ESmdZcxI
https://dl.doubtnut.com/l/_fbsp1oiE98Zs


3. Check which of the following are solutions

of an equation x + 2y = 4? (Complete the table

wherever necessary) 

(i) (0, 2) (ii) (2, 0) (iii) (4, 0) (iv) ( ,- ) 

(v) (1, 1) (vi) ( - 2, 3)

Watch Video Solution

√2 √2

4. Find the value of k, if x = 2, y =1 is a solution

of the equation 2x + 3y = k. Find two more

solutions of the resultant equation.

https://dl.doubtnut.com/l/_fbsp1oiE98Zs
https://dl.doubtnut.com/l/_6vRLR3wPDOee
https://dl.doubtnut.com/l/_l9zCst5lYfe6


Watch Video Solution

5. If x = 2 – α and y = 2 + α is a solution of the

equation 3x – 2y + 6 = 0 find the value of ‘α ’.

Find three more solutions of the resultant

equation.

Watch Video Solution

6. If x = 1, y = 1 is a solution of the equation 3x +

ay = 6, find the value of ‘a’.

https://dl.doubtnut.com/l/_l9zCst5lYfe6
https://dl.doubtnut.com/l/_d1cKG5qTVHn4
https://dl.doubtnut.com/l/_ngw74dZHzwo6


Watch Video Solution

7. Write five different linear equations in two

variables and find three solutions for each of

them?

Watch Video Solution

8. Find three different solutions of the each of

the following equations. 

(i) 3x + 4y = 7 (ii) y = 6x (iii) 2x - y = 7 

(iv) 13x - 12y = 25 (v) 10x + 11y = 21 (vi) x + y = 0

https://dl.doubtnut.com/l/_ngw74dZHzwo6
https://dl.doubtnut.com/l/_l9ZJKkcXJ2dO
https://dl.doubtnut.com/l/_VsLrNDLncODi


Watch Video Solution

9. If (0, a) and (b, 0) are the solutions of the

following linear equations. Find ‘a’ and ‘b’. 

(i)8x - y = 34 (ii) 3x = 7y - 21 (iii)5x - 2y + 3 = 0

Watch Video Solution

10. Check which of the following is solution of

the equation 2x - 5y = 10 

https://dl.doubtnut.com/l/_VsLrNDLncODi
https://dl.doubtnut.com/l/_8smIHdvCGwGu
https://dl.doubtnut.com/l/_cK2AawZLgFms


Exercise 8 3

(i) (0, 2) (ii) (0, –2) (iii) (5, 0) (iv) ( )

(v) ( )

Watch Video Solution

2√3, − √3

, 2
1

2

11. If x = 1, y = 1 is a solution of the equation 3x

+ ay = 6, find the value of ‘a’.

Watch Video Solution

https://dl.doubtnut.com/l/_cK2AawZLgFms
https://dl.doubtnut.com/l/_XkzBiWHKPcvM


1. Draw the graph of each of the following

linear equations. 

(i) 2y = -x + 1 (ii) –x + y = 6 (iii) 3x + 5y = 15 (iv)

=3

Watch Video Solution

−
x

2

y

3

2. Draw the graph of each of the following

linear equations and answer the following

question. 

(i) y = x (ii) y = 2x (iii) y = -2x (iv) y = 3x v) y = -3x 

https://dl.doubtnut.com/l/_h3PxMRkxPgJQ
https://dl.doubtnut.com/l/_EZ6hTKvZ07EK


(i) Are all these equations of the form y = mx,

where m is a real number? 

(ii) Are all these graphs passing through the

origin? 

(iii) What can you conclude about these

graphs?

Watch Video Solution

3. Draw the graph of the equation 2x + 3y = 11.

Find the value of y when x = 1 from the graph.

Watch Video Solution

https://dl.doubtnut.com/l/_EZ6hTKvZ07EK
https://dl.doubtnut.com/l/_fXZ9vs85opZO


4. Draw the graph of the equation y - x = 2.

Find from the graph 

(i) the value of y when x = 4 

(ii) the value of x when y =-3

Watch Video Solution

5. Draw the graph of the equation 2x+3y=12.

Find the solutions from the graph 

(i) Whose y-coordinate is 3 

(ii) Whose x-coordinate is -3

https://dl.doubtnut.com/l/_fXZ9vs85opZO
https://dl.doubtnut.com/l/_f0oTZ10VcP1J
https://dl.doubtnut.com/l/_xKJTzoeHq8Uv


Watch Video Solution

6. Draw the graph of each of the equations

given below and also find the coordinates of

the points where the graph cuts the

coordinate axes 

(i) 6x - 3y = 12 (ii) - x + 4y = 8 (iii) 3x + 2y + 6 = 0

Watch Video Solution

https://dl.doubtnut.com/l/_xKJTzoeHq8Uv
https://dl.doubtnut.com/l/_fvrKEgZsHhTC


7. Rajiya and Preethi two students of Class IX

together collected 1000 for the Prime Minister

Relief Fund for victims of natural calamities.

Write a linear equation and draw a graph to

depict the statement.

Watch Video Solution

8. Gopaiah sowed wheat and paddy in two

fields of total area 5000 square meters. Write

https://dl.doubtnut.com/l/_3Cxg53d1D3Sk
https://dl.doubtnut.com/l/_9DIdEUXznhgn


a linear equation and draw a graph to

represent the same?

Watch Video Solution

9. The force applied on a body of mass 6 kg. is

directly proportional to the acceleration

produced in the body. Write an equation to

express this observation and draw the graph

of the equation.

Watch Video Solution

https://dl.doubtnut.com/l/_9DIdEUXznhgn
https://dl.doubtnut.com/l/_fn4Qo94zJLsh
https://dl.doubtnut.com/l/_fYNCM1SeDC22


10. A stone is falling from a mountain. The

velocity of the stone is given by V = 9.8t. Draw

its graph and find the velocity of the stone ‘4’

seconds after start.

Watch Video Solution

11. Draw the graph of each of the following

linear equations. 

(i) 2y = -x + 1 (ii) –x + y = 6 (iii) 3x + 5y = 15 (iv)

=3

Watch Video Solution

−
x

2

y

3

https://dl.doubtnut.com/l/_fYNCM1SeDC22
https://dl.doubtnut.com/l/_IWGS39V662gq


12. Draw the graph of each of the following

linear equations and answer the following

question. 

(i) y = x (ii) y = 2x (iii) y = -2x (iv) y = 3x v) y = -3x 

(i) Are all these equations of the form y = mx,

where m is a real number? 

(ii) Are all these graphs passing through the

origin? 

(iii) What can you conclude about these

graphs?

https://dl.doubtnut.com/l/_IWGS39V662gq
https://dl.doubtnut.com/l/_Ubz2N9HLzumY


Watch Video Solution

13. Draw the graph of the equation 2x + 3y = 11.

Find the value of y when x = 1 from the graph.

Watch Video Solution

14. Draw the graph of the equation y - x = 2.

Find from the graph 

(i) the value of y when x = 4 

(ii) the value of x when y =-3

Watch Video Solution

https://dl.doubtnut.com/l/_Ubz2N9HLzumY
https://dl.doubtnut.com/l/_NER6G0RPnDPN
https://dl.doubtnut.com/l/_2vTpARV4UjBR


15. Draw the graph of the equation 2x+3y=12.

Find the solutions from the graph 

(i) Whose y-coordinate is 3 

(ii) Whose x-coordinate is -3

Watch Video Solution

16. Draw the graph of each of the equations

given below and also find the coordinates of

the points where the graph cuts the

https://dl.doubtnut.com/l/_2vTpARV4UjBR
https://dl.doubtnut.com/l/_0kJtyXXTPr1M
https://dl.doubtnut.com/l/_doMZYWTIIYya


coordinate axes 

(i) 6x - 3y = 12 (ii) - x + 4y = 8 (iii) 3x + 2y + 6 = 0

Watch Video Solution

17. Rajiya and Preethi two students of Class IX

together collected 1000 for the Prime Minister

Relief Fund for victims of natural calamities.

Write a linear equation and draw a graph to

depict the statement.

Watch Video Solution

https://dl.doubtnut.com/l/_doMZYWTIIYya
https://dl.doubtnut.com/l/_O5lYjbF8JzOx
https://dl.doubtnut.com/l/_EFdy109hrfq4


18. Gopaiah sowed wheat and paddy in two

fields of total area 5000 square meters. Write

a linear equation and draw a graph to

represent the same?

Watch Video Solution

19. The force applied on a body of mass 6 kg. is

directly proportional to the acceleration

produced in the body. Write an equation to

express this observation and draw the graph

of the equation.

https://dl.doubtnut.com/l/_EFdy109hrfq4
https://dl.doubtnut.com/l/_dejgkVtePyrU


Exercise 8 4

Watch Video Solution

20. A stone is falling from a mountain. The

velocity of the stone is given by V = 9.8t. Draw

its graph and find the velocity of the stone ‘4’

seconds after start.

Watch Video Solution

https://dl.doubtnut.com/l/_dejgkVtePyrU
https://dl.doubtnut.com/l/_vOjgeEYuqGth


1. In a election 60% of voters cast their votes.

Form an equation and draw the graph for this

data. Find the following from the graph. 

(i) The total number of voters, if 1200 voters

cast their votes 

(ii) The number votes cast, if the total number

of voters are 800 

https://dl.doubtnut.com/l/_iQA7IcTNzqJl


Watch Video Solution

2. When Rupa was born, her father was 25

years old. Form an equation and draw a graph

for this data. From the graph find 

(i) The age of the father when Rupa is 25 years

old. 

(ii) Rupa’s age when her father is 40 years old.

Watch Video Solution

https://dl.doubtnut.com/l/_iQA7IcTNzqJl
https://dl.doubtnut.com/l/_s89bdpnn5mxQ


3. A lending library has fixed charge for the

first three days and an additional charges for

each day thereafter. John paid 27 for a book

kept for seven days. If the fixed charges be x

and subsequent per day charges be y, then

write the linear equation representing the

above information and draw the graph of the

same. From the graph, find fixed charges for

the first three if additional charges for each

day thereafter is 4. Find additional charges for

each day thereafter if the fixed charges for the

first three days of 7.

https://dl.doubtnut.com/l/_jtSDj0WDsqz7


Watch Video Solution

4. The parking charges of a car in Hyderabad

Railway station for first two hours is 50 and 10

for each subsequent hour. Write down an

equation and draw the graph. Find the

following charges from the graph 

(i) For three hours (ii) For six hours 

(iii) How many hours did Rekha park her car if

she paid 80 as parking charges?

Watch Video Solution

https://dl.doubtnut.com/l/_jtSDj0WDsqz7
https://dl.doubtnut.com/l/_D7oOuJhg3GYP


5. Sameera was driving a car with uniform

speed of 60 kmph. Draw distance-time graph.

From the graph find the distance travelled by

Sameera in 

(i)  hours (ii) 2 hours (iii)  hours

Watch Video Solution

(1)
1

2
(3)

1

2

6. The ratio of molecular weight of Hydrogen

and Oxygen in water is 1:8. Set up an equation

between Hydrogen and Oxygen and draw its

https://dl.doubtnut.com/l/_XVJ4b5RLENYg
https://dl.doubtnut.com/l/_uVrP0qTEpUks


graph. From the graph find the quantity of

Hydrogen if Oxygen is 12 grams. And quantity

of oxygen if hydrogen is  gms.?

Watch Video Solution

3

2

7. In a mixture of 28 litres, the ratio of milk and

water is 5:2. Set up the equation between the

mixture and milk. Draw its graph. By observing

the graph find the quantity of milk in the

mixture.

Watch Video Solution

https://dl.doubtnut.com/l/_uVrP0qTEpUks
https://dl.doubtnut.com/l/_qF6Fzl2OIjl8


8. In countries like USA and Canada

temperature is measured in Fahrenheit where

as in countries like India, it is measured in

Celsius. Here is a linear equation that converts

Fahrenheit to Celsius F =  


Draw the graph of the above linear equation

having Celsius on x-axis and Fahrenheit on Y-

axis.

Watch Video Solution

( )C + 32
9

5

https://dl.doubtnut.com/l/_qF6Fzl2OIjl8
https://dl.doubtnut.com/l/_43udAncgwawS


9. In countries like USA and Canada

temperature is measured in Fahrenheit where

as in countries like India, it is measured in

Celsius. Here is a linear equation that converts

Fahrenheit to Celsius F =  


If the temperature is 30°C, what is the

temperature in Fahrenheit?

Watch Video Solution

( )C + 32
9

5

https://dl.doubtnut.com/l/_lOsBrqNMa4HO


10. In countries like USA and Canada

temperature is measured in Fahrenheit where

as in countries like India, it is measured in

Celsius. Here is a linear equation that converts

Fahrenheit to Celsius F = ( )C + 32 


If the temperature is 95°F, what is the

temperature in Celsius?

Watch Video Solution

9

5

https://dl.doubtnut.com/l/_03FZBwE1YZL3


11. In countries like USA and Canada

temperature is measured in Fahrenheit where

as in countries like India, it is measured in

Celsius. Here is a linear equation that converts

Fahrenheit to Celsius F =  


Is there a temperature that has numerically

the same value in both Fahrenheit and

Celsius? If yes find it?

Watch Video Solution

( )C + 32
9

5

https://dl.doubtnut.com/l/_zdXs7SSLFRMe


12. In a election 60% of voters cast their votes.

Form an equation and draw the graph for this

data. Find the following from the graph. 

(i) The total number of voters, if 1200 voters

cast their votes 

(ii) The number votes cast, if the total number

of voters are 800 

https://dl.doubtnut.com/l/_fPpVjBWTshiZ


Watch Video Solution

13. When Rupa was born, her father was 25

years old. Form an equation and draw a graph

for this data. From the graph find 

(i) The age of the father when Rupa is 25 years

old. 

(ii) Rupa’s age when her father is 40 years old.

Watch Video Solution

https://dl.doubtnut.com/l/_fPpVjBWTshiZ
https://dl.doubtnut.com/l/_iFBV4loTShr2


14. An auto charges 15 for first kilometer and 8

each for each subsequent kilometer. For a

distance of ‘x’ km. an amount of ‘y’ is paid. 

Write the linear equation representing this

information and draw the graph. With the

help of graph find the distance travelled if the

fare paid is 55? How much would have to be

paid for 7 kilometers?

Watch Video Solution

https://dl.doubtnut.com/l/_djoReBNBLYzc


15. A lending library has fixed charge for the

first three days and an additional charges for

each day thereafter. John paid 27 for a book

kept for seven days. If the fixed charges be x

and subsequent per day charges be y, then

write the linear equation representing the

above information and draw the graph of the

same. From the graph, find fixed charges for

the first three if additional charges for each

day thereafter is 4. Find additional charges for

each day thereafter if the fixed charges for the

first three days of 7.

https://dl.doubtnut.com/l/_sHKTUSX5MUjs


Watch Video Solution

16. The parking charges of a car in Hyderabad

Railway station for first two hours is 50 and 10

for each subsequent hour. Write down an

equation and draw the graph. Find the

following charges from the graph 

(i) For three hours (ii) For six hours 

(iii) How many hours did Rekha park her car if

she paid 80 as parking charges?

Watch Video Solution

https://dl.doubtnut.com/l/_sHKTUSX5MUjs
https://dl.doubtnut.com/l/_px3Kzg8YDpE2


17. Sameera was driving a car with uniform

speed of 60 kmph. Draw distance-time graph.

From the graph find the distance travelled by

Sameera in 

(i)  hours (ii) 2 hours (iii)  hours

Watch Video Solution

(1)
1

2
(3)

1

2

18. The ratio of molecular weight of Hydrogen

and Oxygen in water is 1:8. Set up an equation

between Hydrogen and Oxygen and draw its

https://dl.doubtnut.com/l/_4LKvJqlW7e0S
https://dl.doubtnut.com/l/_GDOyW9u9obIx


graph. From the graph find the quantity of

Hydrogen if Oxygen is 12 grams. And quantity

of oxygen if hydrogen is  gms.?

Watch Video Solution

32

19. In a mixture of 28 litres, the ratio of milk

and water is 5:2. Set up the equation between

the mixture and milk. Draw its graph. By

observing the graph find the quantity of milk

in the mixture.

Watch Video Solution

https://dl.doubtnut.com/l/_GDOyW9u9obIx
https://dl.doubtnut.com/l/_RyTegj9eSUk8


20. In countries like USA and Canada

temperature is measured in Fahrenheit where

as in countries like India, it is measured in

Celsius. Here is a linear equation that converts

Fahrenheit to Celsius F =  


Draw the graph of the above linear equation

having Celsius on x-axis and Fahrenheit on Y-

axis.

Watch Video Solution

( )C + 32
9

5

https://dl.doubtnut.com/l/_RyTegj9eSUk8
https://dl.doubtnut.com/l/_VcGv7nd0g7tK


21. In countries like USA and Canada

temperature is measured in Fahrenheit where

as in countries like India, it is measured in

Celsius. Here is a linear equation that converts

Fahrenheit to Celsius F =  


If the temperature is 30°C, what is the

temperature in Fahrenheit?

Watch Video Solution

( )C + 32
9

5

https://dl.doubtnut.com/l/_scvjWvc4kWls


22. In countries like USA and Canada

temperature is measured in Fahrenheit where

as in countries like India, it is measured in

Celsius. Here is a linear equation that converts

Fahrenheit to Celsius F = ( )C + 32 


If the temperature is 95°F, what is the

temperature in Celsius?

Watch Video Solution

9

5

https://dl.doubtnut.com/l/_oYuD17qelizI


Exercise 8 5

23. In countries like USA and Canada

temperature is measured in Fahrenheit where

as in countries like India, it is measured in

Celsius. Here is a linear equation that converts

Fahrenheit to Celsius F =  


Is there a temperature that has numerically

the same value in both Fahrenheit and

Celsius? If yes find it?

Watch Video Solution

( )C + 32
9

5

https://dl.doubtnut.com/l/_cqmJw8XuQ829


1. Give the graphical representation of the

following equation. 

(a) On the number line and (b)On the

Cartesian plane 

(i) x = 3 (ii) y + 3 = 0 (iii) y = 4 (iv) 2x – 9 = 0 

(v) 3x + 5 = 0

Watch Video Solution

2. Give the graphical representation of 2x - 11=

0 as an equation in 

https://dl.doubtnut.com/l/_fvDby8V6MAEo
https://dl.doubtnut.com/l/_GdZX9fvHHILj


(i) one variable (ii) two variables

Watch Video Solution

3. Solve the equation 3x +2 = 8x - 8 and

represent the solution on 

(i) the number line (ii) the Cartesian plane

Watch Video Solution

4. Write the equation of the line parallel to Y-

axis and passing through the point 

https://dl.doubtnut.com/l/_GdZX9fvHHILj
https://dl.doubtnut.com/l/_L1ra0qKFyz9R
https://dl.doubtnut.com/l/_dMYo7YCG6fwz


(i) (-4, 0) (ii) (2, 0) (iii) (3, 5) (iv) (-4,-3)

Watch Video Solution

5. Write the equation of the line parallel to Y-

axis and passing through the point 

(i) (-4, 0) (ii) (2, 0) (iii) (3, 5) (iv) (-4,-3)

Watch Video Solution

6. Write the equation of three lines that are 

(i) parallel to the X-axis (ii) parallel to the Y-

https://dl.doubtnut.com/l/_dMYo7YCG6fwz
https://dl.doubtnut.com/l/_8uK80diMPFTf
https://dl.doubtnut.com/l/_DqfzIbWObgHc


axis

Watch Video Solution

7. Give the graphical representation of the

following equation. 

(a) On the number line and (b)On the

Cartesian plane 

(i) x = 3 (ii) y + 3 = 0 (iii) y = 4 (iv) 2x – 9 = 0 

(v) 3x + 5 = 0

Watch Video Solution

https://dl.doubtnut.com/l/_DqfzIbWObgHc
https://dl.doubtnut.com/l/_op00K78KJkfX
https://dl.doubtnut.com/l/_sf5ZmN9Cjx0p


8. Give the graphical representation of 2x - 11=

0 as an equation in 

(i) one variable (ii) two variables

Watch Video Solution

9. Solve the equation 3x +2 = 8x - 8 and

represent the solution on 

(i) the number line (ii) the Cartesian plane

Watch Video Solution

https://dl.doubtnut.com/l/_sf5ZmN9Cjx0p
https://dl.doubtnut.com/l/_FBdu6v9Zr93u
https://dl.doubtnut.com/l/_H2qe1Abi8cFo


10. Write the equation of the line parallel to X-

axis, and passing through the point 

(i) (0, –3) (ii) (0, 4) (iii) (2, –5) (iv) (3,4)

Watch Video Solution

11. Write the equation of the line parallel to Y-

axis and passing through the point 

(i) (-4, 0) (ii) (2, 0) (iii) (3, 5) (iv) (-4,-3)

Watch Video Solution

https://dl.doubtnut.com/l/_H2qe1Abi8cFo
https://dl.doubtnut.com/l/_vm5FnodGBwu8


12. Write the equation of three lines that are 

(i) parallel to the X-axis (ii) parallel to the Y-

axis

Watch Video Solution

https://dl.doubtnut.com/l/_zC9SEV9rKNlz

